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04.

     ?
           

         ,  
           . 
   ‘     (Volcano
Processes) .     
  ,       .  
        .

1)  (Magma)
l           

  .      
  .      ‘
’ .   700  
  1300     .

l          
,         
.  ,  ,  
, ,      ,
   .

2)  (Lava)
l             

  ,     .   ,
      ‘’ .

    :  .
1)    (Central Eruption): 

       (Volcantci
Pipe)          
  .        
.

2)    (Fissure Eruption):  
           
 .       
  .

            
(Based on Explosive Intensity)

1)     (Hawaiian):   
.         
.

2)     (Strombolian):   
         
.         
  (  ).     
  .

3)     (Volcanian):     
     (Viscosity)  
  .        
  .

l          
  .

4)    (Pelean):     
     .      
. ‘’        

. 1902     . 
       
29,000        .
       .

         (Based on
Activeness)

1)       :     
     .     
     . : , ,
,  

l    600     
 .       
  ‘  ’.        
  .   
   9,170  (   
).

2)      (Dormant Volcanoes):
        
    .       
       . :  
- .. 79    . 1552 
    1631    .
  -  ,  - 

3)      (Extinct Volcanoes): 
     .    ,
         
   . :  (  
),   ( )

      :      
        .

1)       (Circum Pacific Belt):
     452   .
   ‘    ’ . 

:    -  
    - 
,  , -  
,  -   
 -  
 -   

2)     (Mid Mountain

Belt):          
  .

:   - 
 - 
-       
 .

3)     (Mid Atlantic Ocean
Ridge):       ‘S’  
           .
        
   . :  

l    , ,  , 
,   ,     
    .

      (Volcanic Landforms):
           
. ..

1)   
2)    
   (Extrusive Forms):    

       .
.  (Scoria)-       

      .
.  (Pumice)-    

 .     
      .

.     (Agglomerate Rock):   
. ,     .

.  (Lapilli):       
      .

.     (Volcanic Bombs):  
       .

.  (Breccia):     
         
     .

.  (Crater):      
.        
.        
    . :    
 

    (Intrusive Forms):  
          .

.   (Batholith):      
        . 
   (Dome Shape) .
        .

.   (Lacolith):       
      . 
      .

.  (Sill):         
        .

.  (Dyke):        
.

 (Geysers):       
         
.  ‘ ’ .    ,
        .
       .

l 1863          
        
 .

l     ,  ,    
 ,           
    (Springs) .



1.          
   ?
1)      
2)        
3)        
4)   ,        

2.         ?
1)      
2)   
3)      
4)        

3.           
  ?
1)     
2)     
3)     
4)       

4.         ?
1)    2)  
3)     4) 

5.           
            
     ?
1)     2)   
3)     4)   

6.         
       ?
1)     2) 
3)    4)    

  
1-4,   2-3,   3-1,   4-2,   5-1,   6-1. 

 

  
 

 
  
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:       ,      
  0, 7      .    ...
2006, 2008.       
2006           1 2007           1
2008           2 2009           1
2010           1 2011           1

   7  .  2012   2006  .
 2006   , 2012         
.   2012 (2  ), 2013 (1), 2014 (1), 2015
(1), 2016 (2)... 2006  2016  14   . 
7   0.     2017   2006
 .         
 .

            
        3        0
        3         2
            3          2
         3          15 (  )
  =   31
8 31 7   3 .  1947   1   15 

   3.         .
      
 1   (1600) 0  2   (300)   1
 3    (46)    1      4    (   1–  15) 3
   = 0+1+1+3 = 5.  1947  15   .

   
8 2009    

    ?
. 2010 . 2013  
. 2015 . 2017

:     
     0
, 7    
    
    .
    

 .
      
2009 1 2010

1
2011 1 2012

2
2013 1 2014

1
    = 7
8  2015  

2009    
.    
 .

- 3   3 


-1
      ‘ -1’    29
  .         
       . 134  (295 )
       ,     

    .        
              
            .  -1

    .

 


